Rod Kimble Lab


You have a hot wheels ramp and car with a jump at the end of the track. At the end of the track a meter stick is set up to measure the height reached by the car’s jump. Verify that energy is conserved.


What relationship does the conservation of energy suggest between gravitational potential energy and kinetic energy at the bottom of the ramp?


Given this relationship, what variables can be ignored? Why is this?


Measure the height of the ramp, the mass of the car, and the launch angle.


Θ=_________


H=_________


m=________


Find the gravitational potential energy of the car at the top of the ramp before release. ______J


Using what you know about the relationship between gravitational potential energy and kinetic energy, and using the mass and launch angle you’ve found, determine the theoretical max height of the car’s jump. ________m


How do you thing changes in the car’s mass will affect this?


Graph height versus mass.                                                       8. What is your percent difference?


